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Topic:- PHIL MPHIL S2
1) Which among the following statements is not true about Mill’s concept of Utilitarian morality?

SRR sifersar & ar 3 foeiferRaa wereil 3 A Bl A1 WSt oidl 3?7

[Question ID = 9616]

1. It recognizes the power of sacrificing in human beings for greater good. / =& aiera 3t sifére 3 3iférs 9Jer & ferw =IrT B0t 6t 9Ifep bl usarerr 3 [Option ID =
38458]

2. Any sacrifice which does not augment happiness is wasted. / @IS #ft camer Sl 3 o8l d@Idr 8, as el & [Option ID = 38459]

3. It admits that sacrifice is a virtue in itself. / g ¥dierR @ 2 & =meI 3ol 3mu 3 v 31 & [Option ID = 38460]

4. It advocates self-renunciation which leads to happiness. / 218 iR @20l 3 PR Bl & &b =IPT 3uel 3mu ¥ v Acepur & [Option ID = 38461]

Correct Answer :-
e |t admits that sacrifice is a virtue in itself. / @B >dior @ & & =PI amol 3mu 3 v 31 & [Option ID = 38460]

2) According to the relativist, ethical theory is not a relevant method for moral practice because

ATIIarst A 3 siferes Rigia sifere sarr & fore Suped yurrelt oidl T a=iifes -

[Question ID = 9617]

. Of the presence of non-compatibilism / 3z @surcraersa aitsig & [Option ID = 38462]

. Moral values are absolute / sifers e fortier 2 [Option ID = 38463]

. These do not acknowledge moral diversity / 2 aiferes fafaerar @t Idior oidf w2 3 [Option ID = 38464]
. The existence of morality itself is questionable / sifermar @1 si¥ara &t 2ifgeer & [Option ID = 38465]

A W N -

Correct Answer :-
e These do not acknowledge moral diversity / 2 sifere fafderar ot sdioR ol @ & [Option ID = 38464]

3) According to David Hume, the relation from which moral distinctions arise lies

s g B AR, Kot Fdel A siferd g Icuce akd 3:

[Question ID = 9618]

In the transcendental realm / s ureiifcod &I ¥ smi¥erd a1 & [Option ID = 38466]

In the realm of internal action / stidafs® figem @& grRR 3t saf¥erd akd & [Option ID = 38467]

In the realm of external objects / s1s3t a=qsii @ orR ¥ sral¥erd a8 3 [Option ID = 38468]

In the realm between internal action and external objects / stiaf¥® fipn 3k @183t aeqall @ dta @ orR 3 sl a8l 3 [Option ID = 38469]

A W N -

Correct Answer :-
e |n the realm of external objects / a3t aeqail @ GrR 3 smafFerd 8kl & [Option ID = 38468]

4) Which kind of Euthanasia can patients seek via living will in India?

4R 3 P YR & searIcy &l v adis Sifdd scoroftp & AP A B2 ADdd 37
[Questlon ID = 9619]
Passive Euthanasia / feiftazr seemeyg [Option ID = 38470]
. Active Euthanasia / ifézr scemeyg [Option ID = 38471]
. Non voluntary Euthanasia / 3tz ¥dfe® sceryg [Option ID = 38472]
. Involuntary Euthanasia / smeifRee sceEieyg [Option ID = 38473]

AWN—\

Correct Answer :-
® Passive Euthanasia / feifSaz scemrey [Option ID = 38470]

5) Apartheid in South Africa was :

sféror srfient & srangfs (381- 96 2Aqaars)

[Question ID = 9620]

. Legal but not moral / el cifcpet diferd otél e [Option ID = 38474]

. Neither legal nor moral / ot wiesft 3ii2 of &t aifera em [Option ID = 38475]
. Both legal and moral / @ropit wd difera gt e [Option ID = 38476]

. Moral but not legal / sifere cifepor wigett aigt em [Option ID = 38477]

A W N -

Correct Answer :-
® Legal but not moral / @il cifdper diferd oidf em [Option ID = 38474]
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[Question ID = 9621]
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Correct Answer :-
® Are there moral facts? / @z sifera aexr 87 [Option ID = 38479]

7) Committing the naturalistic fallacy implies :

YIapferes S @l @I darcRf 3:

[Question ID = 9622]

Mistaking good as synthetic / gjs1 @l Ridfed @ u 3 Jersion stcia 3 [Option ID = 38482]

. Reducing nature to the other / yafer @1 gar 3 aecren [Option ID = 38483]

Reducing ethical terms to natural is a mistake / sifef® ot @l yrpiera 9 aeron st & [Option ID = 38484]

. Misunderstanding nature’s capacity to renew itself / ympfer &t @i ot ordiefiapa @2ol 6t sicrawastt [Option ID = 38485]

A WN -

Correct Answer :-
e Reducing ethical terms to natural is a mistake / diferes 91t @t yrepfere 3t @eton sreredt 8 [Option 1D = 38484]

8) Which of the following cannot be ascribed to Aristotle :

forgotferfaa 3 A1 P2t sReq & féru forfdse ordt fRpen s e 8?7

[Question ID = 9623]

Final good for human beings must be pursued for its own sake / #o[=I @I 3iféle1 9J#1 DI Ulelol dact Y D fere don anfdw [Option ID = 38486]
The happy life involves the exercise of reason / it Sftaet 3t @ o1 swert fordla & [Option ID = 38487]

Akrasia or internal harmony underlies the exercise of virtues / 3RRBRI =1 3idRe Agra Aguil D 3w 6 offa 3 [Option ID = 38488]
Virtue is an intermediate state between two excesses / JcrER a1 siferll @ dfa v deradf sazen 8 [Option ID = 38489]

A WN -

Correct Answer :-
e Akrasia or internal harmony underlies the exercise of virtues / srpRRRI =1 siial¥e Adga Aguil & w1 & offa & [Option ID = 38488]

9) Niskama karma of Gita is followed by

oflar 3 forcaorar wal @ TSI 3iIcT 3 -

[Question ID = 9624]
1. Loka Samgraha / cliaw3ioe

[Option ID = 38490]
2. Advaita / siga

[Option ID = 38491]
3. Yoga / =1

[Option ID = 38492]
4. Bhakti / siftp

[Option ID = 38493]

Correct Answer :-
® [oka Samgraha / ciiieE
[Option ID = 38490]

10) Biocentrism as an ethical theory includes :

SflaadSRIAar v aiferds Rigia @& »u 3 onfiret ol 3:

[Question ID = 9625]

1. Only human beings / d@aet sigr=r [Option ID = 38494]

2. Human beings and animals / sg=1 sik ugj [Option ID = 38495]

3. Animals and plants / ugj 3fiz didt [Option ID = 38496]

4. Human beings, animals, plants and ecosystems / g1, ug], il siiz uildRerfercht dq [Option ID = 38497]

Correct Answer :-
e Animals and plants / ug] siiz @& [Option ID = 38496]

11) As per Bernard Williams, the features of utilitarianism are

o1t fAferIe & eAIR, SwIRIIaK & fdruam 3
[Question ID = 9626]

It is transcendental / @18 sicfifsger 8 [Option ID = 38498]
It is committed to the concept of negative responsibility / 8 sibRIcH® IacIRca & siemrun o e yferag 8 [Option ID = 38499]

1.

2.

3. Empirical calculation of consequences is not possible /Wwﬁmﬁ [Option ID = 38500]
4, i

The consequences in Utilitarianism can be calculated on a common currency / 3 ufduredl B SIUTGIT U AT SIIdbcTol @ 3IElR U2 &Y SIf Al 8
[Option ID = 38501]
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3Eardl RBiforsat @ SIGRIR olferd Al fBAD FRI av s sirar 3:

[Question ID = 9627]

Pleasure of the individual / wifep <t yaiearar [Option ID = 38502]

Utility of action / @3t &bt 3u=if3rar [Option ID = 38503]

Greatest happiness of greatest number / 3« ¥t 3=n @ ciell bt e ast Zgeft [Option ID = 38504]
Intention of the agent / wsic @1 s2rer [Option ID = 38505]

A WN -

Correct Answer :-
® Pleasure of the individual / wafes &t yateerar [Option ID = 38502]

13) According to Kant, moral worth of an action is to be evaluated based on the:

Pic D APRAR, PH D olferd I b1 Peuibal b 3meR uR e s aifde:
[Question ID = 9628]

. Consequence of action / st @1 ufdumer [Option ID = 38506]

. Intention of the agent / wsic @ s2rer [Option ID = 38507]

. Utility of the action / st &t 3u=nfdrar [Option ID = 38508]

. Means taken to arrive at the end / uf3vmer a® ugdel @ fern srn Mmeet [Option ID = 38509]

A WN =

Correct Answer :-
e |Intention of the agent / wdic @1 s3rer [Option ID = 38507]

14) Which one of the following cannot be considered under Physical Evil:

forgatferRaa 3 3 fp3Y Yrapferas spierer ($firer) & asd ordl Aol S Jwar 37
[Question ID = 9629]

1. Floods / @i [Option ID = 38510]

2. Diseases / Je1 [Option ID = 38511]

3. Cowardice / @rrar [Option ID = 38512]

4. Bodily deformities / 9mif¥® faapfer [Option ID = 38513]

Correct Answer :-
e Cowardice / @rrzar [Option ID = 38512]

15) It is a chief feature of pragmatism that:

I RAgsli¥odl dl v yga o 3 b -

[Question ID = 9630]

. Metaphysics is nonsense / dcasflsiizn sesart 8 [Option ID = 38514]

. Epistemology is a part of science / siowfisizn firsirer a1 v 8¥am & [Option ID = 38515]

. Metaphysics has practical implications / acasfisizn @ =nasii¥® foifdaref & [Option ID = 38516]
. Atheism should be rejected / suf¥daaar @t xufsst fdpan smen aifde [Option ID = 38517]

A wWN =

Correct Answer :-
e Metaphysics has practical implications / dcasfisiizn @ casifye foifdaref 8 [Option ID = 38516]

16) For Searle, a computational program explains:

el D e, ud PIRILIGIA DRIGH PI avidl 3:

[Question ID = 9631]
1. No functionality / s ®rigwErr s@t 3

[Option ID = 38518]
2. No understanding / @I mret oidt

[Option ID = 38519]
3. Wisdom / gfgarem

[Option ID = 38520]
4. Intentionality / daifsaar

[Option ID = 38521]

Correct Answer :-
e No understanding / @I JsT oidt

[Option ID = 38519]

17) Mental states can be realized by any kind of body is a position held by



». FirStRankercoryy - e v

M Figstrankpptsoheoice) : :
2. Behaviourists / wrasrzar [Option D = 38523] www.FirstRanker.com www.FirstRanker.com

3. Functionalists / fgamarct [Option ID = 38524]
4. Substance dualists / ueref-gaarct [Option ID = 38525]

Correct Answer :-
e Functionalists / fgzmarct [Option ID = 38524]

18) Russell’s theory of descriptions has

R @ faaror @1 Rigia:

[Question ID = 9633]
1. Only metaphysical implications / @act arasfiaif3ie yama 3xaar 8

[Option ID = 38526]
2. Only epistemological implications / @aet sieefeifis gma s &

[Option ID = 38527]
3. Both metaphysical and epistemological implications / gleil arasfisnid siie smepfiailes goma xaar 3

[Option ID = 38528]
4. Neither metaphysical nor epistemological implications / o dl arasfiaifs of & sewfiaifRs Yera 2xddar 8

[Option ID = 38529]

Correct Answer :-
e Both metaphysical and epistemological implications / Qi arasfiaifiem 3iiz sroEfiaife yama xadar 8
[Option ID = 38528]

19) The fact that the length of the shadow cannot explain the height of the pole that throws the shadow shows that

BRI bl cidrE BRI B Bbol arel ¢d bl Hars Bl A o181 APl 3, U8 gorfar 3 b -
[Question ID = 9634]

Explanations have a direction / suséia=ur &I v o & [Option ID = 38530]

Laws have a direction / fafér &t v fger 21t & [Option ID = 38531]

Facts have a direction / aezii &t vas forr it 2 [Option ID = 38532]

Deduction has a direction / aifes® yama &t v f&or 3 [Option ID = 38533]

A W N -

Correct Answer :-
e Explanations have a direction / zuséiazur &t vas fgor & [Option ID = 38530]

20) For Kripke, the identity statement Hesperus is Phosphorus is

fopuds @ foru, usdrel Wwerel "3TURA BRBIRA 3:

[Question ID = 9635]

1. An analytic statement / vo feawvneae w=ie & [Option ID = 38534]

2. An analytic aposteriori statement / ve frauvncares =6l & forid fore sejera arfsw [Option ID = 38535]
3. A contingent statement / v@ 3ndRad weret & [Option ID = 38536]

4. A necessary aposteriori statement / vo siforarf acpe 8 SrRid féte siopsra aifde [Option ID = 38537]

Correct Answer :-
® A necessary aposteriori statement / v® sifordr! oo & BRID o srepsma aifde [Option ID = 38537]

21) The substance is spoken of by Aristotle in Metaphysics as

ucre 3R¥ SRI Aelfbforaa 3 31 YdR diel Sl 3t

[Question ID = 9636]

1. What being is for that thing / 3 divt @ fere sif¥aca @@ 2

[Option ID = 38538]
2. What being is not for that thing / 331 dts1 & ferw ai¥dca o= odt

[Option ID = 38539]
3. What underlies that thing / ds Sit 331 <ist &t offa 2xaar &

[Option ID = 38540]
4. Its universal / s Ardeiifdre

PO =585

Correct Answer :- www.FirstRanker.com
e What being is for that thing / 3 dist @ fere si¥dra @=m 3
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[Question ID = 9637]
. Being invisible / 39w gler [Option ID = 38542]
Substance / ugref [Option ID = 38543]
Being static / e gle [Option ID = 38544]
Both invisible and static / 39w 3iiz Rer gleil [Option ID = 38545]

A WN -

Correct Answer :-
e Substance / ueref [Option ID = 38543]

23) If P and Q are both False, then which of the following statements is true

afe P siiz Q Qloil s 3, al forgotfeil¥aa werell 3 A dlol AT AT 3t
[Question ID = 9638]

1. P& Q/ P 3z Q [Option ID = 38546]

2. PD>Q /P D Q[Option ID = 38547]

3. -Pand Q/ - P siiz Q [Option ID = 38548]

4. PvQ/PvQ[Option ID = 38549]

Correct Answer :-
e PDQ /P DQ[Option ID = 38547]

24) “Some snakes are poisonous” is to be translated in logic as

"@o AU S I 3 @I afdbd 3e[EE 3:

[Question ID = 9639]
1. (x) (Sx D Px)
[Option ID = 38550]
2. 3IxSx & Px
[Option ID = 38551]
3. 3IxSx &-Px

[Option ID = 38552]
4. (x) (Px D Sx)

[Option ID = 38553]

Correct Answer :-
® IxSx & Px

[Option ID = 38551]

25) - (P & Q) is logically equivalent to

- (P & Q) aifbes U A TAD WIDE &:
[Question ID = 9640]

1. P=Q/ P =Q [Option ID = 38554]

2. P> Q/P D Q[Option ID = 38555]

3. -Pv-Q/ - P v-Q[Option ID = 38556]
4. PorQ/ PorQ[Option ID = 38557]

Correct Answer :-
e -Pv-Q/-Pv-Q[Option ID = 38556]

26) “Planets are spherical” is to be translated as

"3Jg 3ICIIPR Bl & DI AlfPd 3IdIc 3:
[Question ID = 9641]

1. IxPx & Sx / IxPx & Sx [Option ID = 38558]

2. (x) (Px D Sx) / (x) (Px D Sx) [Option ID = 38559]
3. (x) (Sx D Px) / (x) (Sx D Px) [Option ID = 38560]
4. (x) (Px & Sx) / (x) (Px & Sx) [Option ID = 38561]

Correct Answer :-
® (x) (Px D Sx) / (x) (Px D Sx) [Option ID = 38559]

27) If modal realism about possibilities is true théwpdskiblS tldam ker.com
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B -Rips sk @prohpieipton D=38562 |
2. Physical entities / sflfer axge [Option ID = 38563] www.FirstRanker.com www.FirstRanker.com
3. Abstract entities / s swrif [Option ID = 38564]

4. Sets of propositions / yzardi @ 3 [Option ID = 38565]

Correct Answer :-
e Physical entities / siifer aege [Option ID = 38563]

28) The political philosophy of Ambedkar is based on the principles of

IFASDR DI ISl gofet ______ Rigial uz smenfea 3 :

[Question ID = 9643]

1. Educate, agitate, organize / f3iféia @2al, A ®2ol, 1A dan [Option ID = 38566]
2. Equality, liberty and fraternity / Jmior, Jaddear sk dgea [Option ID = 38567]

3. Classless society and socialism / @eife@ler st siiz 2w [Option ID = 38568]

4. Brahmanism and capitalism / grsrvmars sl gsftars [Option ID = 38569]

Correct Answer :-
e Equality, liberty and fraternity / Jmmerar, ¥addqa i degea [Option ID = 38567]

29) Which one of the following is not a part of the triple path prescribed by Buddhism

forsaiferRaa 3 2 dld dig eRt orr forerifya fosr u o 3= ol 8

[Question ID = 9644]
1. Prajna / gsm
[Option ID = 38570]

2. JAana / smet

[Option ID = 38571]
3. Sila / dfter

[Option ID = 38572]
4. Samadhi / sreufer

[Option ID = 38573]
Correct Answer :-
e Jhana / =iet

[Option ID = 38571]

30) Who among the following considered the theory of karma and rebirth as dogmas of Indian philosophy?

forgoiferRaa 3 21 bt wat & Rigia 3iiz Yorsied @I sRcARI Golol T soelfdiar (Sorem) e 3:

[Question ID = 9645]
1. Dayakrishna / garayr

[Option ID = 38574]
2. Radhakrishnan / 3Jremdysoret

[Option ID = 38575]
3. J. Krishnamurti / 51 gyeomgfef

[Option ID = 38576]
4. Surendranath Dasgupta / J3geirel Rl

[Option ID = 38577]

Correct Answer :-

e Surendranath Dasgupta / J3geirel GRPJHT
[Option ID = 38577]

31) Which of the Indian philosophical tradition is critical about Vedic Brahminism?

afed gremEe @ ar A ol 2l sl soffors uRuI sircikeicas 3:

[Question ID = 9646]
1 —STaTTOTIOtraT it o pTT TR

[Option ID = 38578] www.FirstRanker.com
2. Sruti tradition / gjfer u3uwr

[Option ID = 38579]
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[Option ID = 38581]
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Correct Answer :-
e Sramana tradition / g1 W

[Option ID = 38578]

32) The Pidrva-Mimamsakas believe in which one of the following:

gd- st forot 3 A fopa 3 frrar o &

[Question ID = 9647]
1. Paratah Pramanayvada and Paratah Apramanyavada / ud: YomeieRars 32 Ud: VRIS

[Option ID = 38582]

2. Svatah Pramanyavada and Paratah Apramanyavada / a: YuARIdG 32 Wed: YUEHAGIAG
[Option ID = 38583]

3. Paratah Pramanyavada and Svatah Apramanyavada / us: YmomieeErs iz 3dd: SYUEITGRIAs

[Option ID = 38584]
4. Svatah Pramanyavada and Svatah Apramanyavada / ¥ad: YoRieIdis i dd: YURIeIAG

[Option ID = 38585]

Correct Answer :-
e Svatah Pramanyavada and Paratah Apramanyavada / ¥ad: Yoeiedrs iR Uad: YRS
[Option ID = 38583]

33) Consider the following statements with respect to Samkhya, mark the incorrect statement

AT D Ader A orgoifeiRaa werell uz R @2, sIcId awerer @) Rifaa o3

[Question ID = 9648]

1. All experience is full of sorrow / JArI sjera gaa 3 et & [Option ID = 38586]

2. The suffering will continue as long as the citta and purusa are associated / g ad awm st 22e1 Sia b o5 R sz yzu g3 3 [Option ID = 38587]
3. In the state of kevala, all samskara and avidya is uprooted / @aet &t eifer 3, it J>pR 3 sifden 3ars &u s & [Option ID = 38588]

4. The state of kevala implies non-distinction of prakrti and purusa / @dact &t srazen @t dicwt 3, yafer siiz gou ot siz-dig [Option ID = 38589]

Correct Answer :-
e The state of kevala implies non-distinction of prakrti and purusa / @act & srazen @t arcwef 2, yafer siiz gou @1 sie-gig [Option ID = 38589]

34) Match the following vrttis of the citta and mark the correct code

List | List Il
I. Ksipta A. One-pointed
Il. Pramudha B. Ignorant
Ill. Viksipta C. Unsteady
IV. Ekagara D. wild

Choose the correct answer from the options given below:

fora &1 gftt @ sioRIR forgaifeiRaa o1 freror 2 3iiz El ®lIs sifdpa o

Il I IR 1T
1. o A. wofirss
II. yiic B. srarfirst
111 fifdr C. afer
1V. var] D. ymfiraa

[Question ID = 9649]
1. 1-D,1-B,I-C,IV-A

[Option ID = 38590]
2. 1-CIl-B,Il-AIV-D

[Option ID = 38591]
3. 1-GII-A M-8, 1V-D www.FirstRanker.com

[Option ID = 38592]
4. 1-B,Il-A Il-C,IV-D
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[Option ID = 38590]

35) Which one of the khyativada is accepted by Vaisesika system?

AP IIT FIRI Ao TNfCIAIG Dlol AT 3

[Question ID = 9650]
1. Anyathakhyati / sreremzemfer

[Option ID = 38594]
2. Akhyati / srcmfer

[Option ID = 38595]
3. Atmakhati / sicorcafer

[Option ID = 38596]
4. Asatkhyati / srrazcfer

[Option ID = 38597]

Correct Answer :-
® Anyathakhyati / sroeremcfer
[Option ID = 38594]

36) Choose the correct order of the stages of life according to pratityasamutpada of Buddhism:

dig el D ydirRIEAUIG & IGRIR Siiael @ ARVl @I Al B Jol:

[Question ID = 9651]
1. Bhava, Vedana, Tanha and Upadana / #1d, dgell, doeal 3l 3UrGiol

[Option ID = 38598]

2. Bhava, Tanha, Vedana, and Upadana / 1a, doal, dgell, 3ii 3urciel
[Option ID = 38599]

3. Bhava, Upadana, Tanha, and Vedana / s1a, 3urciel, desl, 3ii2 dgel

[Option ID = 38600]
4. Bhava, Vedana, Upadana and Tanha / #1d, dgetl, 3urciol 3ii2 doal

[Option ID = 38601]

Correct Answer :-
e Bhava, Upadana, Tanha, and Vedana / #a, 3uicral, doal, i dcoll

[Option ID = 38600]

37) Consider the following statements with reference to the schools of Vedanta and mark the correct code

(i) Samkara accepted nirguna Brahman and rejected saguna Brahman
(i) Samkara and Ramanuja accepted saguna Brahman

(iii) Samkara accepted both saguna and nirguna Brahman

(iv) Samkara and Ramanuja both rejected nirguna Brahman

deid @ Fapell @ e I fosifeiRad el u? R @3 ik W8l oIs @l Rifada o3

(i) otz 51 fojuT gramvT @Y FHGR b 3z FPT FBIT DI IRFHIDPR B2
(ii) 9fD= 1R AAIGIST of ASLVI FIBIVI DI IAIDR

(iii) oicp2 ot FIvI 3iiR forafur graIvT Sl6il @l iR R

(iv) 9iepz 3R WG SX6il of forofur Frarvr Bt RAIBR B2

[Question ID = 9652]

1. Only (i) is true / @ae (i) A1 & [Option ID = 38602]

2. Only (i) and (iv) are true / @aet (i) 32 (iv) A & [Option ID = 38603]

3. Only (ii) and (iii) are true / @aet (ii) 3l (iii) A= 3 [Option ID = 38604]

4. Only (iii) and (iv) are true / @ad (iii) sii (iv) 3= & [Option ID = 38605]

Correct Answer :-

e_Only (ii) and (jii) are true / Gyaer (ii) > (jii) 2w & [Option 1D = 38604]

38) Which one of the following statements is tAVANWHTHRERAKLICA RAusation of Vedanta?
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1. Vivartavada is compatible with arambhavada / fiadare smeerdrg @ el P 3
[Option ID = 38606]

2. Vivartavada is incompatible with satkaryavada / faddre Jamridic @ el 3RPIA &
[Option ID = 38607]

3. Satkaryavada is incompatible with parinamavada / Jaorlarg ufvierarg @ el 3R 3
[Option ID = 38608]

4. Vivartavada is compatible with satkaryavada / fadars JacmrlaeG & e 361 &

[Option ID = 38609]

Correct Answer :-
e Vivartavada is compatible with satkaryavada / faadaie Jaeriae @ Imer Iderd 3
[Option ID = 38609]

39) Who among the following believes that “The nation is the greatest evil for the Nation.”?

foratferRaa 3 A1 Pl Hlolar 3 fb "Ireg 3 g D fore ARy a3t =i 37
[Question ID = 9654]

. Ambedkar / swdsa2 [Option ID = 38610]

. Tagore / iz [Option ID = 38611]

. Gandhi / stieft [Option ID = 38612]

. Aurobindo / srfder [Option ID = 38613]

A w N =

Correct Answer :-
e Tagore / iz [Option ID = 38611]

40) In the 6th Chapter of the Chandogya Upanisad ‘Thou Art That’ is repeated:

B Iufoltlc B B3 HEART A " cad] 3R DI ISR SR 3.

[Question ID = 9655]
1. 8 times / 8 &=

[Option ID = 38614]
2. 9times / 9ar

[Option ID = 38615]
3. 5times / 5ar

[Option ID = 38616]
4. 10 times / 10 a=

[Option ID = 38617]
Correct Answer :-
® 9times/9ar

[Option ID = 38615]

41) The Nasadiya Sukta is about:

SIRICRI TP $A D aR A 3¢

[Question ID = 9656]
1. The female creation principle / sifden fowifor Rrgia

[Option ID = 38618]
2. Indra, the God of thunder / g, ag| @ daar

[Option ID = 38619]
3. Questions of creation / 3jftc &t aon @ AR ¥ Yot

[Option ID = 38620]
4. The failure of two-substance theory / gi-ucref Brgia &t fwerar

[Option ID = 38621]

Correct Answer :-
® Questions of creation / 3Jjftc &t 3aen & &R 3 Yoot

[Option ID = 38620]

42) According to Russell, numbers are:



1.;Flrstﬂarn3ker.cnm

alﬁm«trfaﬂhmﬂmé'pmme 38622] .
2. ldeal forms / amrasf %u [Option ID = 38623] www.FirstRanker.com www.FirstRanker.com

3. Invented / sufdwgpa [Option ID = 38624]
4. Transcendental / urcilfcees [Option ID = 38625]

Correct Answer :-
® |Logical fictions / afdse @weusn [Option ID = 38622]

43) Who among the following belong to the tradition of communitarianism?

forgotferRaa 31 3 Plal ‘“DrEIARRIGIE (ARGRIAKG) b uu=T A AHdfra 37

[Question ID = 9658]

1. J. S. Mill, John Rawls and Will Kymlicka / St w2t @91, Sifet 3fe=i, fet fpectopt [Option ID = 38626]

2. Charles Taylor, Mac Intyre, Michael Sandel / @resf ez, 3 socrse, aisde Ase [Option ID = 38627]

3. Karl Marx, Antonio Gramsci and Louis Althusser / et sirRi, sielfomil spah iR clis3 vegRr [Option ID = 38628]
4. Edmund Burke, John Dewey and William James / wsiis @@, Sifer 4t aiiz faferer Swar [Option ID = 38629]

Correct Answer :-
e Charles Taylor, Mac Intyre, Michael Sandel / aresf ez, dib socIs3, AIsdd Asd [Option ID = 38627]

44) Truth according to Hegel is:

3INCT D AGRAR A -

[Question ID = 9659]
1. Static / Rer @

[Option ID = 38630]
2. Progressively evolving / @aer: fa@mRa at a1 8

[Option ID = 38631]
3. To be understood through two valued logic / @ Jc=raret a@ @ FAreeT A AAST S ADAT S

[Option ID = 38632]
4. To be understood in terms of its utility / bl SwRNRPKT @ gt 9 WIS S AD 3

[Option ID = 38633]

Correct Answer :-
® Progressively evolving / @gior [l 8l 28t &

[Option ID = 38631]

45) Which of the following tool is not used in postmodern research methodology?

forgot 31 A Dlal AT IUDVI IaR-3MEYfoTd 3refRienst ugfler 3 IuieT o1dl g sirer 3?7
[Question ID = 9660]

1. Discourse / 3smwor  [Option ID = 38634]

2. Ideology / faaremr [Option ID = 38635]

3. Dialectics / ggars [Option ID = 38636]

4. Understanding / 3@t [Option ID = 38637]

Correct Answer :-
® |deology / faremr [Option ID = 38635]

46) In the Divided Line in Plato’s Republic which of the following is true?

wiIAY @ fopar "srvrde” A fsnfsra Izar 3 fororferRaa & A ®ler a1 I 3:

[Question ID = 9661]
1. Mathematical methodology is preferred / sifdrdikr ugfer @l greféraar ¢t st &

[Option ID = 38638]
2. Methodology of reaching unhypothetical principle is preferred / seiss Rigia ao ugdel &l uglt @ grerfdpar ot st &

[Option ID = 38639]
3. Methodology of copying images is preferred / sfrii ot @it ot 6t ugher Pt grerfdresar <t st 3

[Option ID = 38640]
4. Methodology of experimentation is preferred / gziist &1 ugfer @l yrerfdraar ¢t Siedt &

£ e T Y- VPL]
[OPtomT D= 500~ 1]

Correct Answer :- www.FirstRanker.com
e Methodology of reaching unhypothetical principle is preferred / swiss Rigia ac® ugdel dl ugl Pl yrefdipdr i Siedt &
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[Question ID = 9662]
1. Abandoned by Wittgenstein in Philosophical Investigations / fibciff3waet safdcaloi 3 fAcslocTsol gRI 1Pl &Il SR

[Option ID = 38642]
2. Retained by Wittgenstein in Philosophical Investigations / facdlo3ctsel gRI fibeiiBwaver SARTo191 3 Tale FT SRIT

[Option ID = 38643]
3. Retained with changes by Wittgenstein in Philosophical Investigations / fseiteitftbaper saf3colorer 3t fAcsloscTsol gRI uf¥ddor @ JATer Jolle 34T SR 3

[Option ID = 38644]
4. Used only when required by Wittgenstein in Philosophical Investigations / ficiff3waer sdf3calorRi 3t fdesloAciol GRI MARID Blol W &l IwRlel fopen S &

[Option ID = 38645]

Correct Answer :-
e Abandoned by Wittgenstein in Philosophical Investigations / fibciiBwarer saf¥3cslort 3 fAcdleacIsel GRI RIPI {1 sRI

[Option ID = 38642]

48) According to Kant the notion of totality is:

Pic B IAAR AL (totality) 6t emzom 3:

[Question ID = 9663]

1. A form of inner sense / siiaf¥® Aisidce! @I v 3prR [Option ID = 38646]
2. Aform of outer sense / dr&1 isIdcGel ol B PR [Option ID = 38647]
3. A pure concept / vw 9 sr@arvn [Option ID = 38648]

4. An empirical concept / va sigstasica sraemron [Option ID = 38649]

Correct Answer :-
® A pure concept / v gl 3m@arun [Option ID = 38648]

49) According to Leibnitz swoon and death are examples of:

cirsaforcst @ 3elRIR Adoft sz gy forratferRaa 3 31 fipar @t Iors20T &

[Question ID = 9664]

1. Clear and distinct representation / uce 3ii2 faferse forsuur (representation) [Option ID = 38650]
2. Confused representation / fauyg forsuur [Option ID = 38651]

3. Absence of all representation / it forsuur &t siguiderfer [Option ID = 38652]

4. Empty representation / gfoa foresuur [Option ID = 38653]

Correct Answer :-
e Confused representation / figye foresuur [Option ID = 38651]

50) Hume’s empiricism demands that all simple ideas are

B D eHadrc &I st 3 6 ft w1eer e 3
[Question ID = 9665]

Rational / gfgiusar (rational) [Option ID = 38654]
Sensory / 3dgeicaas [Option ID = 38655]
Imaginary / wrcufores [Option ID = 38656]
Structured / Jizfera [Option ID = 38657]

A WN -

Correct Answer :-
e Sensory / Jdcerca [Option ID = 38655]
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